REML+2,70730L =R 10000

QY

WHEEB KEB AEB THEB BEE”
1000 T—)l 2BIH T—)U 25I% F=)l 7\99‘71 =)L 25I% =)L 2597 | =)L 1600
SIZIKIR SIZIKIR SIZKIR SIZKIR SIZIKE
30 — q - 30
;2{__“’ D0—)LE= ZUMBA ya-reo2 ZUMBA 33&3;37‘;5@? Reyypzpo | AYVAYRTLA P 76 ZUMBA | DO0-ILB=
1100 / (D) (1VFR &) (NFRER) 45 4 2137 (#BA) 1100
G T J4Y Py —— (&) £ REHRA A
11 B0~ SRS HE 21 A i) g77'f$ﬂ§ Gk HEE)
3oL . 30
e WISLESES B 735 = VDN H-p&S— 2yt s M EEatinls
- e N 37718 = N 37518 = s PIREHE NYVINGE | A o= 3—3%173 :tfow Dy N
121 — NT 1 — —~— S VANCIZE (AN - 12
12:10 MO @Ry 290 I JU=—D1Y 1657 TS5IR=h
A €=22)) 12 :00-12: 30 . 12 :00-12 : 30 Ly
30 S = 6. 7T2—2 POPEIR 6. 73— S 30
UNFS) (NHE) =l 2)=04Y
(Z12) 12 :30-13 : 00
1800 1310~14:00 6. 73—2 1300
- BRFPLY | D55y | EEFvLY KT LY RaHAT P> 1330~ Mt -
I29—)L (£%) I29—)L I29—)L I20—)b ey
, (32R) FyXEDR ;
14.00 S ()J\1 ‘6) 14.00
RBPHAAIVT DIRTI L2y LAIIVUPZA A (MARD FE5 IY—D4Y
30 _ S b S s o o o i |2 - 30
FEHAA IR Y= R IR = R = R IR = 14:40~ Z{Djd
1600 =24 =24 =24 U—=241Y w2 15 : 00~ 1600
FyXEDOR ZEE —
%0 (4F-69) 21435 TSAR=-tLYRY 30
ek eezrsyo | ES eB21IVY L eB821IVY ee213y— A -
1600 ( §}§ﬁ$ 5 7\A’(\J ﬁ;’&ﬂﬁi ; 5 7\A’(\J ﬁ;’&ﬂﬁi ; 5 ZA’r\J ¥ ZA’f\J IS4 K=~y 2 ls00
Sm~0O%)T) (B%~6 (B%~6 ?a% . < E < e
“ oS, 16:15%<[(16:30:8&)|
N4 = A = INAE =9 == B
o] e (SEBALSY 2} It FEERISY 7 FEERISY v FeeRCS v 1700
(M ~I3) (M ~IN3) (M ~IN3) e 255 (ieR
30 21T r o dAY 30
c
NS . I . I = == _
wool  pmme  [FESISII  pame  |FESAISHI  page |FEEASIT FeEAsYT IHLORIBFEHIC |0
(1h3~1\6) (1N3~1)6) (1N3~1)6) IFHTXN
30 18:30~ o 30
000 FvZEDR — 000
! et = N
0 BT BT BT RmE (MARD -2 ﬂ*—“*%ﬁ%%ﬁp Iy ©
-2 -2 -2 -2 e
P— ;
20:100 QRx: IL?E __ 20:.00
30 30
- 033 - ——C' - S A HEHER
2100 K ~ HE - >~ > - j EE PS54 Ry R 21:00
—_— 304r=1100H
: B 16:15%cl16:30:B88] D7)
~
2200 O~ - E 2200




